

# Slide 1:

$$\sum_{n=1}^{\infty} a_n = \sum P.T. + \sum N.T.$$

Note  $\rightarrow a_n = \max\{a_n, 0\} + \min\{a_n, 0\}$

$\downarrow$   $\downarrow$   
if  $a_n > 0$ ,  $a_n$   $0$   $0$   $a_n$

If  $a_n < 0$ ,

$$\text{so } S_n = \underbrace{\sum_{n=1}^n \max\{a_n, 0\}} + \underbrace{\sum_{n=1}^n \min\{a_n, 0\}}$$

we know  $\sum_{n=1}^{\infty} \max\{a_n, 0\}$ ,  $\sum_{n=1}^{\infty} \min\{a_n, 0\}$  converge.

$$\text{so } \sum_{n=1}^{\infty} a_n = \sum_{n=1}^{\infty} \max\{a_n, 0\} + \min\{a_n, 0\}$$

$$\text{(*)} = \sum_{n=1}^{\infty} \max\{a_n, 0\} + \sum_{n=1}^{\infty} \min\{a_n, 0\}$$

what I used in  $(*)$ : if  $\sum a_n$  conv and  $\sum b_n$  conv

used by  
(1)

Then  $\sum a_n + b_n$  conv  
&  $\sum a_n + b_n = \sum a_n + \sum b_n$   
(limit sum Rule).

We also know: If  $\sum a_n$  conv,  $\sum b_n$  div  
 $*$  Then  $\sum a_n + b_n$  div  
(Also limit sum rule)

used by (2) and (3)

(2)

Since  $a_n = \max\{a_{n1}, 0\} + \min\{a_{n1}, 0\}$

and  $\sum \max\{a_{n1}, 0\} = \infty$

$\sum \min\{a_{n1}, 0\}$  converge

Then by  $(*)$ ,  $\sum a_n$  div.

$$\dots \cup \dots = \emptyset$$

now for  $(L_t)$ :

we don't know,

Ex 1:  $\sum_{n=1}^{\infty} \frac{(-1)^n}{n}$   $\sum PT = \emptyset$   
 $\sum NT = -\emptyset$

but  $\sum_{n=1}^{\infty} \frac{e^{-n}}{n}$  conv.

Ex 2:  $\sum_{n=1}^{\infty} (-1)^n n$   $\sum PT = \emptyset$   
 $\sum NT = -\infty$

but  $\sum (-1)^n n$  div

Since  $\lim_{n \rightarrow \infty} (-1)^n n \neq 0$

To figure out how it diverges,

Compute  $\sum u_n$ .

---

Slide 5,

1) Converges:

$$\begin{aligned}\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| &= \lim_{n \rightarrow \infty} \frac{3^{n+1}}{(n+1)!} \cdot \frac{n!}{3^n} \\ &= \lim_{n \rightarrow \infty} \frac{3}{n+1} = 0\end{aligned}$$

So  $\sum_{n=1}^{\infty} \frac{3^n}{n!}$  converges.

$$\begin{aligned}2) \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| &= \lim_{n \rightarrow \infty} \frac{(2n+2)!}{(n+1)!^2 3^{n+2}} \cdot \frac{3^{n+1} n!}{(2n)!} \\ &= \lim_{n \rightarrow \infty} \frac{(2n+2)(2n+1)}{(n+1)^2 3} = \frac{4}{3} > 1\end{aligned}$$

so  $\sum \dots$  diverges.

$\left( \begin{array}{l} \text{general version of Ratio Test:} \\ \limsup_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \sup_{n \geq k} a_n \\ \text{instead of limit} \end{array} \right)$

3)  $\lim_{n \rightarrow \infty} \frac{1/n+1}{1/n} = 1$  so Ratio test is inconclusive.

By integral test,  $\sum \frac{1}{n}$  div.

4)  $\lim_{n \rightarrow \infty} \frac{(n+1)!}{(n+1)^{n+1}} \cdot \frac{n^n}{n!}$

$= \lim_{n \rightarrow \infty} \frac{(n+1) \cdot n^n}{(n+1)^n \cdot (n+1)} = \lim_{n \rightarrow \infty} \frac{\cancel{n+1}}{\cancel{n+1}} \cdot \left( \frac{n}{n+1} \right)^n$

$= \lim_{n \rightarrow \infty} \left( 1 + \frac{1}{n} \right)^{-n}$

$= \left[ \lim_{n \rightarrow \infty} \left( 1 + \frac{1}{n} \right)^n \right]^{-1}$

$$\begin{aligned}
 \downarrow \lim_{n \rightarrow \infty} (1 + \frac{1}{n})^n &= \lim_{n \rightarrow \infty} e^{n \ln(1 + \frac{1}{n})} \\
 &= \exp \left[ \lim_{n \rightarrow \infty} n \ln(1 + \frac{1}{n}) \right] \\
 &= \exp \left[ \lim_{x \rightarrow \infty} \frac{\ln(1 + \frac{1}{x})}{\frac{1}{x}} \right] \\
 &\stackrel{\text{L'H}}{=} \exp \left[ \lim_{x \rightarrow \infty} \frac{\frac{x}{x+1} \cdot \frac{-1}{x^2}}{\frac{-1}{x^2}} \right] \\
 &= \exp \left[ \lim_{x \rightarrow \infty} \frac{x}{x+1} \right] = e
 \end{aligned}$$

$$\text{So } \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \frac{1}{e} < 1$$

So  $\sum \frac{n!}{n^n}$  Convergent.

$$5) \lim_{n \rightarrow \infty} \frac{\ln n}{\ln(n+1)} = 1$$

So Ratio test is inconclusive ages to closer

Try to compare with  $1/n$ :  $\lim_{n \rightarrow \infty} \frac{1/\ln n}{1/n} = \lim_{n \rightarrow \infty} \frac{n}{\ln n} = \infty$

so by variation of the LCT,

if  $\sum \frac{1}{n}$  div then  $\sum \frac{1}{\ln n}$  diverges

(If  $\sum \frac{1}{\ln n}$  conv then  $\sum \frac{1}{n}$  conv; useless)

since  $\lim_{n \rightarrow \infty} \frac{\ln n}{n} = 0$ , we know for  $n$  big enough,

$$0 < \ln n < n$$

so  $\frac{1}{\ln n} > \frac{1}{n} > 0$

by BCT: Then div  $\uparrow$  if div

6)  $\lim_{n \rightarrow \infty} \frac{n \ln(n)^2}{(n+1)(\ln(n+1))^2} = \lim_{n \rightarrow \infty} \frac{n}{n+1} \cdot \left( \lim_{n \rightarrow \infty} \frac{\ln n}{\ln(n+1)} \right)^2$

= 1

- +

Ratio test is inconclusive.

Trying with LCT:

$$\lim_{n \rightarrow \infty} \frac{\frac{1}{n(\ln n)^2}}{\frac{1}{n^{c+1}}} = \lim_{n \rightarrow \infty} \frac{n^{c+1}}{(n \ln n)^2} = \infty$$

If  $\sum \frac{1}{n^{c+1}}$  div, then  $\sum \frac{1}{n(\ln n)^2}$  div  
(useless)

Trying with integral test:

Since  $\frac{1}{n(\ln n)^2}$  is ~~positive~~ &  $\downarrow$

so we can apply integral test

so the series  $\sum \frac{1}{n(\ln n)^2}$  behaves like

$$\int \frac{1}{x (\ln x)^2} dx$$

$$\text{so } \int_2^{\infty} \frac{dx}{x (\ln x)^2} = \left. \frac{-1}{\ln x} \right|_2^{\infty} = \frac{1}{\ln 2} < \infty$$



2

So conv

So  $\sum \frac{1}{n \ln n}^2$  also conv.

Slide 6:

Let  $\epsilon > 0$ , since  $\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = L$

Then  $\exists N \in \mathbb{N}$  s.t.  $\forall n > N$ ,

$$L - \epsilon < \left| \frac{a_{n+1}}{a_n} \right| < L + \epsilon$$

$$\left[ |a_n| (L - \epsilon) < |a_{n+1}| < |a_n| (L + \epsilon) \right]$$

$$\begin{aligned} |a_{n+1}| &< |a_n| (L + \epsilon) \\ &< |a_{n+1}| (L + \epsilon) (L + \epsilon) \end{aligned}$$

... 3 /

$$\begin{aligned} &< |a_{n-2}| (L+\varepsilon) \\ &\quad \vdots \\ &< |a_{n-1}| (L+\varepsilon) \\ &\underline{\underline{< |a_n| (L+\varepsilon)}} \end{aligned}$$

$$\begin{aligned} \Rightarrow |a_{n+1}| &< |a_n| (L+\varepsilon)^{n-N+1} \\ \text{or } |a_n| &< |a_N| (L+\varepsilon)^{n-N} \\ &\text{holds } \forall n > N \end{aligned}$$

Similarly apply  $|a_n| (L-\varepsilon) < |a_{n+1}|$  several times  
to get  $|a_n| (L-\varepsilon)^{n-N} < |a_N|$

So  $\forall n > N$ ,

$$\underline{\underline{|a_n| (L-\varepsilon)^{n-N}}} < |a_n| < \overbrace{|a_n| (L+\varepsilon)^{n-N}}^r$$

geometric series

( $r^n$  &  $r^{n-5}$  are both geometric)

( $r^n$  and  $3r^n$  are both geometric)

Problem 2:

suppose  $L < 1$ .

Choose  $\varepsilon = \frac{1-L}{2}$  so  $L + \varepsilon < 1$ .

$\exists N \in \mathbb{N}$  s.t.  $|b_n| > N$ ,

$$\propto \left[ |a_n| < \underbrace{(L + \varepsilon)^{n-N}}_{< 1} |a_N| \right]$$

Apply BCT: Since  $L + \varepsilon < 1$ ,

$$\sum_{n=N+1}^{\infty} \underbrace{(L + \varepsilon)^{n-N}}_{< 1} \underbrace{|a_N|}_{\text{constant}} \text{ converges}$$

we get  $\sum_{n=N+1}^{\infty} |a_n|$  also converges

Then  $\sum_{n=1}^{\infty} |a_n|$  converges

Similarly if  $L > 1$ ,

Choose  $\varepsilon = \frac{L-1}{2}$  so that  $L-\varepsilon > 1$

we know  $\exists N \in \mathbb{N}$  s.t.  $\forall n > N$ ,

$$0 < (L-\varepsilon)^{n-N} |a_n| < \underline{|a_n|}$$

Apply BCT: since  $L-\varepsilon > 1$ ,  $\sum_{n=N+1}^{\infty} (L-\varepsilon)^{n-N} |a_n|$  diverges

$$(L-\varepsilon)^{-N} |a_n| \sum_{n=N+1}^{\infty} (L-\varepsilon)^n \Rightarrow \infty$$

so  $\sum_{n=N+1}^{\infty} |a_n|$  diverges

$\Rightarrow \sum_{n=1}^{\infty} |a_n|$  diverges.

## Slide 7:

1) Converges  $\forall x \in \mathbb{R}$ .

$$\begin{aligned} \text{Apply Ratio test: } \lim_{n \rightarrow \infty} \left| \frac{x^{n+1}}{(n+1)!} \cdot \frac{n!}{x^n} \right| \\ = \lim_{n \rightarrow \infty} \frac{1}{n+1} |x| = |x| \lim_{n \rightarrow \infty} \frac{1}{n+1} \\ = 0 \end{aligned}$$

$\forall x \in \mathbb{R}$ .

$$\text{So } \forall x \in \mathbb{R}, \underbrace{\sum_{n=0}^{\infty} \frac{x^n}{n!}}_{= e^x} \text{ converges}$$

2) Apply ratio test.

$$\text{We want to find all } x \text{ s.t. } \lim_{n \rightarrow \infty} \left| \frac{a_{n+1} (x-5)^{n+1}}{a_n (x-5)^n} \right| < 1$$

$$n \quad | (x-5)^{n+1} - 4^n - 2 |$$

$$\lim_{n \rightarrow \infty} \left| \frac{(n+1)^{n+1}}{(n+1)^2 \cdot 4^{n+1}} \right|$$

$$= \lim_{n \rightarrow \infty} |x-5| \frac{n^3}{(n+1)^2} \cdot \frac{1}{4}$$

$$= |x-5| \cdot \frac{1}{4} \underbrace{\lim_{n \rightarrow \infty} \frac{n^3}{(n+1)^2}}_1$$

$$= |x-5| \frac{1}{4}$$

1)  $\forall x$  s.t.  $|x-5| \frac{1}{4} < 1$ ,  $\sum a_n x^n$  converges

$$\Leftrightarrow |x-5| < 4$$

$$\Leftrightarrow x \in (1, 9)$$

2)  $\forall x$  s.t.  $|x-5| \frac{1}{4} > 1$ ,  $\sum a_n x^n$  diverges

$$\Leftrightarrow x \in (9, \infty) \cup (-\infty, 1)$$

3) What happens at  $x=1$ ,  $x=9$  }

(Ratio test inconclusive).

$$\text{at } x=1, \quad \sum_{n=1}^{\infty} \frac{1}{n^2} \frac{(-4)^n}{2 \cdot 4^n}$$

$$= \sum_{n=1}^{\infty} \frac{1}{2n^2} (-1)^n \quad \text{Converge.}$$

$$\text{at } x=9, \quad \sum_{n=1}^{\infty} \frac{1}{n^2} \frac{4^n}{2 \cdot 4^n}$$

$$= \sum_{n=1}^{\infty} \frac{1}{2n^2} \quad \text{Converge}$$

Answer is: interval of convergence is  $[1, 9]$

3